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Please check that this question paper contains 6 printed pages.

Code number given on the right hand side of the question paper should be written
on the title page of the answer-book by the candidate.

Please check that this question paper contains 25 questions.

Please write down the Serial Number of the question before attempting
it.

15 minute time has been allotted to read this question paper. The question paper
will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will
read the question paper only and will not write any answer on the answer-book
during this period.
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General Instructions :
(1) There are 25 questions in all.
(i1)) All questions are compulsory.

(iit) Questions no. 1 - 14 are short answer type questions carrying 2 marks each. Answer
to each question should not exceed 30 words.
(iv) Questions no. 15 - 21 are long answer type questions carrying 4 marks each. Answer

to each question should not exceed 80 words.

(v) Questions no. 22 - 25 are very long answer type questions carrying 6 marks each.
Answer to each question should not exceed 200 words. Question no. 25 is to be

answered on the basis of the passage given.
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TGS § G- 1 3 FaRy | 2
Write the meaning of age - structure in population.

3= foser ot (efLatdt.) & fuif@ 3 & <1 9Fce &= § 2 1+1=2
What are two criteria used for defining the OBCs ?

AR 99T &1 31¢f Sd1Eu | 2

Write the meaning of Civil Society.

‘gregerfaear’ ‘greie’ 9 fee ger = @72 1+1=2

In what way ‘Communalism’ is different from ‘Communal’ ?

iyaHientor | A9 I FHSd © 7 2

What do you mean by Westernisation ?

¥ 99 % & HeqUl i Sdre | 1+1=2

Mention two important functions of Nyay Panchayat.

‘g gfHE 1 o7 SRy | 2

Give the meaning of the term ‘Footloose Labour’ ?

faferst =1 27¢f = B ®2 2

What is disinvestment ?

WM AT (silk route) I A H AN hl Hd SIS ? 2

How did the silk route connect people in the past ?

T T yRad=l & o) § JaEe 5= T9-SeRae! Afdd 3™ el S Jehdl © |
1+1=2
State two changes that can be termed as neo-liberal economic measures.
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YR e o e ® 2

What are transnational corporations ?

TTHTSTeR 3Tielet JHTfSieh Uiedl o g gar = €2 1+1=2

In what way are social movements different from social changes ?

U IS STl o o o AEYIH qcd 1 § 2

What are the essential elements in creating new social movements ?

sferd |rfSien STidierl o < Hewqul SR Fdmsy | 1+1=2

State two important basis of Dalit Social Movements.

S <X H fRIEe o 91ESE YRA &1 SHE @Al S Jis-aX 96 ®l & | R0 IHeRy |
AT

FIT H YR 1 T EIhE STATSHT shl THATST |

Despite the decline in birth rate, the growth rate of India’s population is
increasing. Explain the reason.

OR

Briefly explain India’s demographic achievements.

TS GUReh! 7 9RA § Afgensti & I # hd HEEd @i ?

How have social reformers helped in the emancipation of women in India ?

I YA R AYRR STUFH IR % 9ol % ST 7 & fou 9 =01 s
FH KT Tk GieH & Fohal €2 fao=m Sifsu |

Could the RTI Act be a means of forcing the ‘State’ to respond to the people of

India ? Discuss.
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AT & ot dufRuer M 2Bd § S dufRisrar & @l ¥ gU% g <
TUET |

Rituals have also secular dimensions as distinct from secular goals. Explain.

o N faWa

feq e fordl ARl ka1 Ifv= 9 54§27 fae=m wifew)

3T
Yol TS S &5 § forg ©i T 9 9%d W@ 7 §HERT|

How interest groups are part and parcel of a functionary democracy ? Discuss.

OR

Explain as to what extent Panchayti Raj has been successful in tribal
areas.

die wifdT Tae SfHwhier IS § F9Ee |ifdd gl | %Rl Sdsy |

Land ceiling act proved to be toothless in most of the states. Give reasons.

AR Y 9l H Hpad (PicRM) STIE I T HITC |

Explain the contraction system in job recruitment.

sirafafirs TeA & SRE 9Rd § Sifd g€ fohd sl 9§ ASed gg 2 9l
HIFST |

AT

STl ol Sk ‘TR TE (HifeTsh | @eIuil o STTER Sfighd fohal 791 § | SHSMEY |

Discuss the ways that strengthened the institution of caste in India under

colonial rule.
OR

Tribes have been classified according to their ‘permanent’ and ‘original’ traits.
Explain.
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ST To TASTIohT0T STHHMAT & T Teied Jdid 8id 8 | ST hifely |

Liberalisation and privatisation appear to be associated with inequality.

Discuss.

Tfed wrem (e Hfifea) W qreeto & g9 &t A Hifs |

Discuss the effect of globalisation on print media.

= fqu T A=t @1 afer SR SHeh Wy fqu T gl & SW S|

TR <9 H Toifyq 9eer, fafy e fen semen fafew gew 9 gfawml w
i 1 TR a o AN geshl R 9 =er of fafewr sqaso €1 "ew &
for W 9 mgdl W g ‘Ie-eAee’ AR ‘wecie’ S @M &l 9N STHAR
R fHerdt §1 IR @1 AR, Us gforg foepe fufar et 1 9 off ‘e’ @ dag
B oF ol B AH-<R’ RIS 1 Uk Afad fewmn 1 7w e ufvem b
T A § AR fokiy ot | 399w =eran § f fafew Sufowemg et off gaR
qHHTA (o 1 Teh Sifed 8adT #1

(31) SufAvETE I & ?

(9) SufavER 3 gR Sied &l fhd TR guifaa fean 82

Read the passage given below and answer the associated questions.

We have a parliamentary and a legal system, a police and educational
system built very much on the British model. We drive on the left side of the
road like the British. We have ‘bread-omlette’ and ‘cutlets’ as menu offered in
many roadside eateries and canteens. A very popular manufacturer of biscuits,
1s actually named after Britain. Many school uniforms include neck-ties. We
often admire the west and as often resent it. These are just some of the many
and complex ways that British colonialism lives on in contemporary India.

(@) What is colonialism ?

(b) In what way colonialism has effected our lives ?



